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. Boys:Gitls = 12:8 = 3:2 (reduced)

120:144 = 10:12 = 5:6

. 8:2=4

5x4 = 20 grams

2.7%5%
=27X5+2.7x 3
=135+ 0.9

= 14.4

. 42.75+3 = $14.25

. 184+8 =

. 36+4 =9 pounds

. 40:15=8:3

. 14424 = 6 gal

. 25x5=125mi

. 6><§ =3m

. 46+4% = $8 per hour

105457 = 20 miles per gallon
D

.4

13-5=38
8+4 =2

. 16.8
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MATP 260 (T2) Issue 5§

78. 27.50%x2 - 2.00 + 2.50 + 17.25 80. 29-5-4-2=18
=55-2+25+17.25 18+3 =06
= 555+ 17.25 @ 6+ 5= 11 (firso)
= $72.75 (b) 6 + 4 = 10 (second)
79. $75 for Sharon & $25 for Lester () 6 + 2 = 8 (third)

(See the following figure.)
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